PITT Qube MR-4024-AAA-4

AL yFTIL—+I =

(36,43, 82,79, 97IFE £/ LY)

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/17 09:11:10



PITT Qube

MR-4024-AAA-4

No. mE i RE - ME B EM wE
1 027811701  |MR-4024 £-4-43 400W 24V |1 70,800
2 027084803  |[MR-#"¥in - ADC-12 1 33,900
3 027026704 |MR-4024B £-9h1" - ADC12 igftt |1 28,600
4 027074503 |MR-4024E 2 17 5& ADC-12 1 61,800
5 027013501  [MR-4024 n/h ) SUS304 2 5,900
6 846005012 |EEE& INF AL 3 200
¢ 12SUS
7 027011304 |[MR-4024 EE' >4 AC7A 1 8,100
8 735705206  |NARIL MEBERHFESE {\JAS1 2x6 0S]|1 500
9 827405012 [K"AF v b M121%F |9 200
Sus
10 [027806801 [MR-4024 M1.75-13¥ ¥ —8/ 3 1 18,600(13~15,62,66
11 [027011009 |[MR-4024 A" -3 AC7A 1 42,400
12 027011202 |[MR-4024 % Sus 1 33,900
13 027010302 |[MR-4024 M1.75-13 " v-84 SCM 1 8,800
14 027010203 [MR-4024 M1.75-22 %" ¥- S45C 1 4,600
15 027010103 |[MR-4024 M1.25-64 % v- S45C 1 8,700
16 027010402 |[MR-4024 M2.25-9 %" v-#f SCM 1 9,100
17 |027010502 |[MR4024 M1.75-49XM1.75X40F179" %" ¢  [S45C 1 10,600
18 027010603 |[MR-4024 M2.25-49 % - S45C 1 10,300
19 027084601 |[MR-0-59%7h Sus 1 21,800
20 [027086601 |MR-4024 A" 7Yyy" h3- SGP 1 1,400
21 |027020002  |[MR-4024 A yF§ 942 AC7A 1 21,800
22 |027070101  |REL-4024Z53&H v ZDC+CRivt |1 3,800

Copyright(c) KOSHIN Ltd. All Rights

Reserved.

2025/01/17 09:11:10




PITT Qube MR-4024-AAA-4

No. ES m W% - B B EfM e
23 027069901 REL-4024% &% y7° ZDC+CRAv% |1 1,500
24 027076601 MREEE > BS M10 1 600
29 889855009 [OY»9" P9 NBR P9 NBR70° |1 200
31 849805172 [KAR T vy 4x22SUS |1 200
32 027013801 MR-4024 20.40 FE R SuUsS 1 400
33 854505006 [V -h-8& No.2 x 3SUS (6 200
34 027074701 MR-4024 %" v-41n" - 0)0)° 1 1,100
35 027020201 MR-4024 § yHan° vy CR 1 700
36 027022201 MR-4024 7° b-M v4Y CR 1 500
37 027075501 REL-4024% &% 994 OYvy” 1 400
38 027018102  |MR-4024 & V1-bEE T L — K SPCC 1 200
39 027013202 |MR-4024 #&ARIL b B/IS1 2x35S|4 1,100
40 027015802  [MR-4024 AR ~ SUS304 4 1,100

M12x2 7
41 027015301 MR-4024 &A 7RIV b g/l 8x17SU |4 500
42 027004702  |REL-4024 #&ARIL k g/l 6x12SU |4 400
43 027016001 MR-4024 #&3ARIL b gll 5x14SU |6 400
44 843805012  [/NREEH $»12SUS |8 200
45 027013703  [MR-4024 2 yF#84iR FMAYT7 4k 1 200
46 027082201 MR-4024 #" )1-hEA 4R FhEYT7 4k 1 200
47 027020104  [MR-4024 24%%7° b-p PBT 1 1,100
48 027014502 [MR-4024 1-V VCT 10m 1 15,200
49 027022701 MR-4024 1#wF1— R RS 1 800
Copyright(c) KOSHIN Ltd. All Rights 3 2025/01/17 09:11:10

Reserved.




PITT Qube

MR-4024-AAA-4

No. mE & - HME B Eff iBE
50 027022801 [MR-4024 2#F 31— R RS 1 800
51 027106701  [MRA{9#3-} LN5.54F L=84 8 300
52 027122901 [EIVE#Z(630272) 630277 KMT [2 1,400
A E S

53 027122801 [[F3I Y E#®(620322) 6203ZZ KMT |1 1,300
|

54  |027122501 [F3I Y EEH3(630322) 6303ZZ KMT |1 1,500
8

55 027123101 [[EIVE#Z(600722) 6007ZZ KMT |1 2,200
A E S

56 893155153  [#4I¥-I VC35,50,6 |1 800
NBR

57 893555003  [#4I¥-I SC 1 400
6x16x7

58 (027106501  [MRBAZKA{vF A3TEO2W |1 7,300

59 027046802 [AIZiEHL2S RPS50A25F |1 14,300
100QK.K

60 027046501 |[RRAEIREREY(C-20) EF i) 1 3,800

61 888327020 |CHLt A8m A2 0SK |1 200

62 888327017 |CHIEX& A1 7SK [2 200

63 888327035 |[CFLE Xk BFA35SK |4 200

64 (888427072 |CHLEX#k N7 2SK |1 600

65 884209048 [EfT¥— ;Lx 5x4 571 300

66 884209041 [EfT¥— 5x5x20 |1 200

67 027049101 [|[EfT¥F— 10x8x18]1 300

68 (884205103 |[FiTH— 10x8x50/1 2,200

69 890255042 [OYv4° 1517-42 1 500
NBR

70 735705174 |;NARIL M BHESR sgugw 0Ox [2 300

72 718419034 |+ERFYvEYITRY 4 x 170 SWR |2 200
M 141

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/17 09:11:10




PITT Qube

MR-4024-AAA-4

No. mE & - HME B Eff iBE

73 704319050 [+FritHRNR VIS M3 x6SWR [2 200
M

74 (827405020 [+ vk M20 1% 1 500
FSUS

75 027800902 [MR-4024 E®EY v45 ¥ 3 1 8,800[6~9

76 827405010 [R&EF v k M10 1% |2 200
FISUS

77 827405008 ["EF v b M8 1% |4 200
U

78 827405006 [AEF vk M6 1 f&dh 4 200
SuUS

79 827405005 ["AEF v b 827|j605005: 12 200
Vi

80 843805008 |I\RES ¢ 8SUS 4 200

81 843805006 |/ \RES ¢ 6SUS X5 |4 200
[u]u}

82 843805005 [/\RES ¢ 5SUS 12 200

83 844405020 (U S/N\XES $20SUS |1 700

84 027082101 |MR-4024 Y73 C2600.M4*6 |1 3,400
SUSAY:Y" V%

85 027046201 |E&FimF (&) TMEV5.5- 12 200
5 (&)

86 027106901 EEimT (M) TMEV 2-3.5N |2 200
B

87 027023001 [MR-4024 7° 3it% ALP 1 400

89 027800804 |[MR-4024 ExFHI3H27 3 1 73,500/4,5,6

92 011002206 [20A7S 4 (%) =L, PBT- |1 0
1401

93 889955025  |0Yv4° G25 NBR 1 200

95 843822004 |[I\RES o4 2 200

96 027052202 |MRS-2524 2{9F+y b v&y N bh-#6500 |1 200

97 027083602  [MR 2vF7° b-ba7- SUS304 2 3,800

98 (027011703  |MR-4024 %" %-An"-N° v4y N b3-#6500 |1 900

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/17 09:11:10




PITT Qube

MR-4024-AAA-4

No. mE & - HME B Eff iBE
99 030001201 |AP-1224 EE4Hk24V FMOY74bh 1 200
100 (027804107 [MR Av¥7°b-hME B5AKRA v F |1 25,200
101 [027805101 MR ZE7-hiH 1 5,400
102 [027123201 EIYEEH®(620722) 6207Z2Z KMT |1 2,900
103 (027804207 |MRZEEBLR 1 14,100(22,23,24,29,31,101
104 (027106601 [MRBEKAyF5497° NBR:LZ 1 1,600(Fy M
00 027045901 [MR 4 Y- WFN -\ 2 OR [1 O|fF& : 2300g
5" 43395 AEP1
00 027131801  [MR-4024 7v%#17 1 32,700
00 027127102 [RE#-#v7"3Y B 2 2,100
00 027131101 |RE 7°3%#M9°-A_B 2 5,400
00 027131001 [REFSYRFYv o KO-SP-01-01 |2 1,800
00 027808902 |MRBHAKRA v F 4 3 1 10,600[104 ¢ Ei& 21— K& ST
00 027106801 |E&HFiHF (k&) TMEV5.5- 11 200
3.5N (#)
00 027103701  |[MRiEH 2B H/N— PC 1 400
00 843805010 [/ \RES ¢ 10SUS304 |2 200
00 027086507  |MR-FIXHYIRS2BAZE (PLYT i) A4 P16 1 700

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/17 09:11:10




